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QUESTION 1

You want to ensure maximum performance of iSCSI LUNs on an AFF A220. In this scenario, which two actions will
accomplish this task? (Choose two.) 

A. Disable flow control. 

B. Configure virtual LAN (VLAN). 

C. Enable flow control. 

D. Enable jumbo frames. 

Correct Answer: CD 

 

QUESTION 2

Which two components must be verified for a supported NetApp SAN confutation? (Choose two.) 

A. host memory 

B. host GPU 

C. host multipath 

D. host bus adapter 

Correct Answer: CD 

 

QUESTION 3

Click the Exhibit button. 

You have an existing 2-node AFF A300 cluster with premium bundle licensing applied. You need to have consistently
low front end latency, and have determined that NVMe satisfies this requirement. 

NS0-509 PDF Dumps | NS0-509 VCE Dumps | NS0-509 Braindumps                                2 / 3

https://www.passapply.com/ns0-509.html
https://www.passapply.com/ns0-509.html
https://www.passapply.com/ns0-509.html


https://www.passapply.com/ns0-509.html
2024 Latest passapply NS0-509 PDF and VCE dumps Download

Referring to the exhibit, which two actions would accomplish this task? (Choose two.) 

A. Add a UTA2 adapter to each of the two AFF A300 nodes. 

B. Add a 32 GB FC HBA to each of the two AFF A300 nodes. 

C. Apply the license for FCP. 

D. Apply the license for NVMe. 

Correct Answer: BD 

 

QUESTION 4

An enterprise customer has both a NetApp FAS8200 4-node cluster and a third-party storage array in a shared SAN
environment. The host servers connect to both storage vendors\\' arrays in the fabric. Regarding (he hosts in this
scenario, what are- two NetApp best practices when performing this task? (Choose two.) 

A. Set the default timeout values and storage parameters for the host system. 

B. Provide isolation between storage systems using NetApp\\'s multitenancy feature. 

C. Always use the same adapter for heterogeneous storage systems. 

D. Use separate adapters to connect to each vendors\\' storage system. 

Correct Answer: AD 

 

QUESTION 5

You will be purchasing two high availability NetApp AFF A700s systems. You want to set up a 4-node cluster. Which
switch would you use for the cluster interconnect switches? 

A. NetApp CN1610 

B. Cisco Nexus 3132Q-V 

C. Cisco Nexus 5548UP 

D. Cisco Nexus 5020 

Correct Answer: B 
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